TAY—EXE>H— INROH
WEPATEE (MEFHY—ERERUVFEISERSHGH)

[1&538]
EEMRBES 1070403389 R6.6 ASUE
WY —EX
BEXEN ExiE2
gfgfg;;;?i 1,823M/ B 3,671F/A
1,7988 1/ R 3,62184i/H
HESEREER LT L — TEBME 101M. A 10084/ A
FETERAAY MR 50M.H 508 A
REREME 202, H  20084i A
O REfkRER EANE O 162M. A 16081 A
— R —EXREME 486/, H 480fi A
H—E AR MASIR{ENE 89M. B 888~ A 178M./ A 17684~ A
OffE - ¥BERY)—=VFMEL - I 5P 4F BT H4F 5P H4F BEif,H4F
MR EHEEARH I E 40M/A 40811~ A
NEBEFNEREME(]) 9.2%(1 7 AN ERREIBEIC LRY)
BEHI8% 600, A (&H*21tiA)

® & & TOH BMMHE & € ¢

(F—ERERHE)

150M/30% * 4 &{530M

(UNEYT—2 3 UHMME) S
(BEAER) S
(F L) S: 150 /h&EHM:160H M:170M /hEsHL: 180M L : 190

&< 80wy

S :160H M : 170M L : 180M LL : 190M

(FREY IS B)

PRIRU/SY b : 60F A4 K8y k:60M T40>%5 :80H +4+rB2Y :90MH




TAH—EXtE> 5 — INRODIt
WEPRTEE (MEFPHY—ERERUVFEISERSIEGH)

[2 E538]
EEMES 1070403389 R6.6 A E
WY —EX
BEXEN ExiE2
;?gfg;;;?i 3,646/ A 7,343/ A
1,798 1/ R 3,621841/AH
HSEREEM LT IL—TEEME 202 A 100841/ A
FETERAAY MR 101M B 5081 A
REREME 405, H 200&fi A
O REfkRER EANE O 324/ H 16081 A
— R —EXREME 973/, H 4801 A
H—E AR MASIR{ENE 178M. R 888~ 356M. A 17684/ A

A - XBXOY)—=VUIMED - 1

10/ #4 SERLH 10/ %4 SEfLH

Rl EHEEAHIINE 81M/8 408z~ B
NEBEFLEREME(]) 9.2%(1 » ADNRIRRAELEIZ L FH)
BE 5185 600M.” B (H®2H/A)

® & & TOH BMHE & & ¢

(F—ERERHE)

150M/30% * 4 &{530M

(UNEYT—2 3 UHMME) S
(BEAER) S
(F L) S: 150 /h&EHM:160M M: 170M /hEsHL: 180M L : 190M

&< 80wy

S :160H M : 170M L : 180M LL : 190M

(FREY IS B)

PRI/ b : 60 4 FK/8y k:60M T4R0>%5 :80H +4+rB2Y :90H




TAH—EXtE> 5 — INRODIt
WEPRTEE (MEFPHY—ERERUVFEISERSIEGH)

CE=Ei)|
BEFRHES 1070403389 R6.6 B &UE
WPBY—EX
EXE EXiE2
gfgfg;;;?i 5,469/ A 11,015/
1,798& 1/ H 3,62184%1/R
EERERLES L —TESME 304M.8 100841 B
FETERAAY FME 152M. A 5084 A
REREME 608M. 8 2008ifi B
OR#eem EmED 486M. A 16081 A
— Ay —ERBHME 1,460 A 480fi A
H—E AR MASIR{ENE 267M./ A 88Hfi. A 535M. B 176844~ A
A - XBXO)—=VJmMEL - I 151, 34 SEAf Y4 151, 4 SEif, Y4
MR EARTIINE 121M/A 40Bifs/ B
NEBEELEREME(]) 9.2%(1 7 BONHREEIBNLE C LR )
BEHAEE 600 B (H+2HKiA)
® & 6 O EMHE € & &
(—ERERHE) 150M/30% * ¥ &#530H
(UNEUT—a UsHE) =
(BEER) =
(A L) S: 150 /JpEHM:160M M :170H /ML : 180 L : 190M
(X <80y S : 160M M : 170M L:180M LL : 190

(FREY IS B)

PRI/ b : 60 4 FK/8y k:60M T4R0>%5 :80H +4+rB2Y :90H




